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Time : 3 Hours												Max. Marks : 75
SECTION A – (10 × 2 = 20 marks)
(Q.No. 1-12)Answer any TEN questions
1.   What is Zero based budgeting?
2.   State any two objectives budgetary control.
3.   Define the term “Cost Accounting”
4.   What is “Production Budgets”?
5.   What is BEP?
6.   What is Key Factor?
7.   What is Margin of Safety?
8.   What is Variable cost?
9.   Define “Standard Costing”
10.  Define marginal Costing.
11.  What is material variance?
12.  Calculate P/V ratio: 
 Sales `5000, Variable Cost `2000
SECTION B – (5 × 5 = 25 marks)
(Q.No. 13-19)Answer any FIVE questions

13. Draw up a flexible budget for production at 75% and 100% capacity on the basis of the following data  
      for a 50% activity
  Per unit 
      `
Materials 								100
Labor									  50
Variable expenses (Direct)					  10
Administrative expenses (50% fixed)		     40000	 				
Selling and distribution expenses (60% fixed)    50000
Present production (50% activity)			       1000 (unites)
14. Ravi raj Ltd manufactures and sells four type of products under the brand name of A, B, C, and D. The  
       sales mix in value comprises 33 1/3 %, 41 2/3 % , 16 2/3 % , and 8 1/3 % of products A,B,C, and D  
       respectively. The total budgeted sales (100%) are ` 60,000 per month. 
 Operating cost are:
 Variable cost: 
            Product A 60% of selling price 
                           B 68% of selling price
                           C 80% of selling price
                           D 40% of selling price
Fixed cost: ` 14,700 per month
 (
[P.T.O.]
)        Calculate the break-even point for the products on an overall basis and the B.E. Sales of individual  
        products. Show the proof for your answer.
15. What are the merits and demerits of standard costing?
16.What are all the objectives of standard costing?
17. Distinguish between Cost accounting and Management accounting? 
18. The sales of a product was 48,000 units in a year. The sales price was `20 per unit and variable cost `12 
        per unit. The total fixed expenses amounted to ` 80,000. The management proposes to reduce the sale 
        price by ` 2 per unit. Ascertain present and revised P/V Ratio. How many units must be sold at revised 
        price to maintain the existing profit?
19. From the following details, state which product is more profitable to manufacture? 
       Assume, time as the key factor. 
                                                                                           Product A                 Product B
                                                                                          ( Per unit )                ( Per unit )         
                                                                                                `                               `    
Materials                                                                        24                             14                                 
Labour (`1 per hour)                                                      	 2                               3
Variable overheads (`2 per hour)                                	 4                               6                        
Sales price                                                                     100                           110
         Standard time to produce ( in hours )	                            2                               3

SECTION C – (2 × 15 = 30 marks)
(Q.No. 20-23)Answer any TWO questions

20. Prepare a flexible budget for overheads on the basis of the following data. Ascertained overhead rates at 
      50%, 60% and 70% capacity 
Variable overheads 					At 60% capacity 
								            `
Indirect material 						6000
Indirect labor 						       18000	

Semi-variable overheads
Electricity (40% fixed, 60% variable)		        30000
Repairs (80% fixed 20% variable) 		          3000
Fixed overheads   
Depreciation						        16500
Insurance							          4500
Salaries 							        15000
							--------------------------
Total overheads					                 93000
							---------------------------
Estimated direct labor hours 			      186000	

21. You are required to compile a statement showing cost and profit from the information given; showing 
       clearly
 (a) Material consumed
 (b) Prime cost
 (c) Work cost 
(d) cost of production 
(e) cost of sales 
(f) Profit and (g) sales  
Material purchased 200000
Wages 100000
Direct expenses 20000
Opening stock of material 40000
Closing stock of material 60000
       Factory overheads are observed at 20% on wages. Administration overheads are 25% on the works  
       cost. The selling and distribution overheads are 20% on the cost of production. Profit is 20% on sales   
22. From the following particulars compute 
(a) Material cost variance 
(b) Material price variance and 
(c) Material usage variance:
 Quantity of materials Purchased 						3000 Units
Value of materials purchased							`9000
Standard quantity of materials required per tonne of output		      30 Units
Standard rate of material						                   2.50 per unit
Opening stock of materials						                    Nil
Closing stock of materials 						                     500 units
Output during the period						                       80 tonnes
                                                                
23. From the following information relating to Palani Bros Ltd., you are required to find out
 (a) P/V Ratio 
 (b) Break-even point
 (c) Profit 
(d) Margin of safety
 (e) volume of sales to earn profit of ` 6000 
Total fixed cost `4500
Total variable cost `7,500
Total sales `15,000
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